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0.1 114. Hausaufgabe
0.1.1 Analysis-Buch Seite 256, Aufgabe 14a
Je“sinzdr =e"sinz — [e”coszdr = e"sinx — e cosx — [e*sinxdr; &
[e"sinzda = < (sinz — cos z);
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[ e"sinzdzr =1 (e7?+1);
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0.1.2 Analysis-Buch Seite 256, Aufgabe 15
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0.1.3 Analysis-Buch Seite 256, Aufgabe 17a

Zeige, dass gilt:
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sin"zdz = — — (sinz)" " cosx + z /(sinx)” 2 da;
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(sinz)" ' cosz + ==L [ (sinx)" dx}/ =
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%Sinnﬁ [1 —(n—1) (sinm)_2 (1 —sin’z — 1)} =

Lsin"z - (1+n—1)=sin"1;
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(sinz)" 'sinz — (n — 1) (sinz)" > cos? x + (n — 1) (sinz)" >
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